### RECEIVED KANSAS CORPORATION COMMISSION

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

## ORIGINAL Form ACO-1 September 1999 Form Must Be Typed

#### **CONSERVATION DIVISION** WICHITA, KS

#### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE



Operator: License # 3882	API No. 15 - 15-053-21176-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: ELLSWORTH
Address: 1670 BROADWAY, SUITE 3300	SENESE Sec. 34 Twp. 17 S. R. 10 🗆 East 🛭 West
City/State/Zip: DENVER, CO 80202-4838	1585 feet from SOUTH Line of Section
Purchaser: GARY-WILLIAMS ENERGY CORPORATION	feet from EAST Line of Section
Operator Contact Person: TOM FERTAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 831-4673	(circle one) NE (SE) NW SW
Contractor: Name: PETROMARK DRILLING	Lease Name: SCHROEDER-MAES-HUFF Well #: 3-34
License: 33323	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER	Producing Formation: ARBUCKLE
Designate Type of Completion:	Elevation: Ground: 1790' Kelly Bushing: 1796'
X New Well Re-Entry Workover	Total Depth: 3367' Plug Back Total Depth: 3316'
X Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 432 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT I WHW
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 6-8-07
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
	Dewatering method used
Commingled Docket No  Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
Other (SVVD of Elini.:)	Lease Name: License No.:
1/20/2006 1/26/2006 2/10/2006	Quarter Sec. Twp. S. R. East West
Spud Date or Date Reached TD Completion Date or	County: Docket No.:
Recompletion Date Recompletion Date	County.
Kansas 67202, within 120 days of the spud date, recompletion, work information on side two of this form will be held confidential for a period	d with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, cover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. of 12 months if requested in writing and submitted with the form (see rule 82-3-ogs and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
1 11/1/1	KCC Office Use ONLY
Signature: Numas 4 Fertal Superior	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: NA 5/10/2006 4	If Denied, Yes □ Date:
Subscribed and swom to before me this 16TH day of MAN	Wireline Log Received
20 <u>06</u>	Geologist Report Received
Notary Public: And Sec X. And Co.	UIC Distribution MAY 1 5 2008
Mr. STIC.	CONFIDENTIA
Date Commission Expires: 12, 2007 COLORA	9 37 37 37 11 10 10 10 10 10 10 10 10 10 10 10 10

Operator Name:	SAMUEL GAI	RY JR &	ASSOC	IATES, I	NC.	Lea	se Name: _	SCH	ROEDER-M	MAES-HUFF	Well #:	3-34
Sec. <u>34</u>	Twp. <u>17</u>	S. R.	10	_ 🗆	East 🛚 West	t Cou	unty:	ELLS	WORTH			
INSTRUCTIONS: tool open and close and flow rates if gas Attach final geologic	ed, flowing and s to surface te	st, along	ressures	, whether	shut-in pressu	ure reached s	static level, hy	/drosta	tic pressur	drill stem tests givin res, bottom hole tem of all Electric Wirelin	perature, flu	id recovery,
Drill Stem Tests Ta (Attach Addition			Yes	1 🖾	No	⊠ Log	F	ormati	ion (Top), I	Depth and Datum		☐ Sample
Sample Sent to Ge	ological Surve	y 🛛	Yes	<b>-</b>	40 I	Name TOPEKA				Тор 259	51'	Datum -755'
Cores Taken	•		Yes	⊠ 1	No	HEEBNER DOUGLAS	l ;	(A	KCC	28° 28°		-1014' -1042'
Electric Log Run (Submit Copy)		⊠	Yes	1	No	BRN LIME LANSING ARBUCKL TD	e Co	May Vair	KCC 1621 IDENT	292 294 US 326 336	42' 69'	-1130' -1146' -1473'
List All E. Logs Run								98 VIII	IUENT	IAL		
				SING REC		New	⊠ Used					
	Size Hole	Size Ca		Weight	et – conducto	1	termediate, pi	roducti	# Sacks	_		
Purpose of string	Drilled	Set (in		Lbs./Ft.	Depth		Cement		Used	Type an	nd Percent A	aditives
SURFACE	12-1/4"	8-5/	8"	28	432'	CLASS A	<del></del>		235	2% GEL & 3% CC		1 1/4#/CV
PRODUCTION	7-7/8"	5-1/	2"	15.5	3365'	ASC			100	7#/SK GILSONITE FLOCELE	±, 3/4% CD-3	31, 1/4#/5K
	1		pth	AL	DDITIONAL C	EMENTING/	SQUEEZE R	T		1		
Purpose: Perforate Protect Cas		Top	Bottom		Type o	of Cement		# Sa	cks Used	Type an	nd Percent A	dditives
Plug Back 7 Plug Off Zo												
Shots per Foot	PERF Si	ORATION Decify Foo	N RECO	RD – Bridç Each Inter	ge Plugs Set/T	Гуре 1				re, Shot, Cement, So d of Material Used)	queeze Reco	ord Depth
4 JSPF	3272 - 3276						250 GAL 28	3% DO	UBLE Fe			3272 - 76
										KANSA	RECI	EIVED ATION COMMISSION
											MAY 1	7 2006
								•			• • • • • • • • • • • • • • • • • • • •	ION DIVISION
TUBING RECORD		Size 2-0	3/8"	Set At	13'	acker At	Liner Run		Yes	⊠ No		ITA, KS
Date of First, Resur		n, SWD c	r Enhr.	Produ	cing Method	-	Flanda	⊠	Dumning	☐ Gas Lift	□ Oth	ner <i>(Explain)</i>
Estimated Production Per 24 Hours	2/10/06 on	Oil 20	Bbls.	Ga	us Mc	f Wa	Flowing ter Bbl		Pumping G	as-Oil Ratio		Gravity
Disposition of Gas						METHOD (	OF COMPLET	TION		-		Production Interval
•	Sold	☐ Use	ed on Le	ase	☐ Ope	n Hole	☑ Perf.		Dually Com	p. Commin	gled	3272 - 76
If vented, subm		-			☐ Othe	er (Specify)						



Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

MAN Invoice Number: 100508

Invoice Date: 01/31/06

Sold Samuel Gary, Jr. & Assoc. To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

RECEIVED KANSAS CORPORATION COMMISSION

MAY 17 2006

**CONSERVATION DIVISION** WICHITA KS

Cust I.D....: Gary

P.O. Number..: Schroeder/Maes

P.O. Date...: 01/31/06

Due Date.: 03/02/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
ASC	125.00	SKS	10.7500	1343.75	Т
KolSeal	875.00	LBS	0.6000	525.00	T
FloSeal	31.00	LBS	1.7000	52.70	T
Flush	500.00	GAL	1.0000	500.00	$\mathbf{T}$
Handling	158.00	SKS	1.6000	252.80	E
Mileage	26.00	MILE	9.4800	246.48	E
158 sks @.06 pe:	r sk per mi		•		
Prod.	1.00	JOB	1320.0000	1320.00	E
Mileage pmp trk	26.00	MILE	5.0000	130.00	Ε
Rotating Head	1.00	PER	50.0000	50.00	E

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 442.07 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...:

Payments:

Total...:

4420.73 152.55 0.00

DRIG XCOMP

AFE #



## ALLIED CEMENTING CO., INC. 24722

Foderal Tay I D

REMIT TO			NSAS 676	55		2Et	RVICE POINT:	
DATE 1-26	la	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION 5/30 AM	JOB START	JOB FINISH
Schroed	en No	44				•	COUNTY	STATE
LEASE H	wft_	WELL#	3-34	LOCATION 4	a Holyroad B	to gu, w/s	5Urwart	K
OLD OR N	EW)(Ci	rcle one)			*			
CONTRAC	TOR	trom	2 42		OWNER	Some	····	
TYPE OF JO		bulow	<u> </u>					•
HOLE SIZE		18/	T.D	3370	CEMENT	opposit 10 <i>C</i> .	O Lea D#	FIL 0 0/1
CASING SI		2 " (New		PTH 3365 '	AMOUNT 4#Flor	ORDERED 1251	x	KOKNENYS
TUBING SI DRILL PIPI				PTH PTH			,	2
TOOL	<u> </u>			PTH	500 gal	, , , , , , , , , , , , , , , , , , ,		
PRES. MAX	× 150	5 <sup>ll</sup>		NIMUM	COMMON		. @	· · · · · · · · · · · · · · · · · · ·
MEAS. LIN				DE JOINT 42.6				
CEMENT L	LEFT II	ا CSG. الم	2.67'	,	GEL		@	-
PERFS. DISPLACE	TIMENIT	79 02	hlolo	·	CHLORID ASC	125 n. /	_@ @_/0,7\$	1343.7
DISPLACE	AVIETN I				- Asy- Koc-Se	4 875 H	@ <i></i>	5250
		EQ	UIPMENT		TOSE	- La .		52.71
DULAD TODA	ICIK	OTTA ATTA TO			- ASTEL	SH SCOCKA		Scor
PUMPTRU# 181		CEMENT HELPER		<u>~~ U</u>	RECEIVED		@	1
BULK TRU		HELLEN	- Ku	KANSAS	CORPORATION COMMIS	SSION	@	
#342		DRIVER	Don	<i>n</i>	MAY 1-7 2006		@ @	
BULK TRU	JCK				DNSERVATION DIVISION			
#		DRIVER		· ·			@ 1.60	252,8
					MILEAGE	- Pari	E 76	246.4
		RE	MARKS:	_			TOTAL	29207
Ron 336	51.0	52 cm	. Bro	Le Circulation		_		
circulat	1 bis	8 . V	teamle	5 byls H20 -		SERV	VICE .	
500 gal A								
14 5C 17	Kox	~ ~ ~	<b>V</b> .'. '	Ronar Jak.		FJOB <u>3365′</u>		
Washed!	mb.	Helson	ad Pilua	& Plug at		UCK CHARGE	<u>@</u>	132000
Relevel	9-	LaH "	y -	a my as	MILEAGE			13000
Mugge	2 Rai	ela B	W/15 D	Λ	MANIFOL			
01						Head	@ <b>50./</b> @	50.0
				_		1	@	
CHARGE T	го: <u>\$</u>	Reuno	James	in a Associ	otes		•	_
STREET C	10	Las a .	EN				TOTAL	1500,00
				0 /1	<del></del> ·		•	
CITY		S7	TATE	ZIP	<del></del>	PLUG & FLOA	AT EQUIPMEN	$\mathbf{T}$
				- 0			@	
			1)	what				
To Allied (	Cemen	ting Co.,	Inc.					
				nenting equipme	nt -		@	
							@	· · · · · · · · · · · · · · · · · · ·
and furnish		inter and	neiper to a	BSIDE OWLIGE OF				
and furnish contractor	h ceme to do v	vork as i	s listed. T	he above work w				•
and furnish contractor done to sat	h ceme to do v tisfacti	work as is on and su	s listed. T apervision	he above work w of owner agent o	Oľ.		TOTAL	
and furnish contractor done to sat contractor.	h ceme to do v tisfacti . I hav	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	or AND		TOTAL	
and furnish contractor done to sat	h ceme to do v tisfacti . I hav	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	or ND TAX		TOTAL	
and furnish contractor done to sat contractor.	h ceme to do v tisfacti . I hav	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	or AND	IARGE	TOTAL	
and furnish contractor done to sat contractor.	h ceme to do v tisfacti . I hav	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	or ND TAX		· · · · · · · · · · · · · · · · · · ·	O IN 30 DAYS
and furnish contractor done to sat contractor.	h ceme to do v tisfacti . I hav	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	Or ND TAX TOTAL CH		· · · · · · · · · · · · · · · · · · ·	D IN 30 DAYS
and furnish contractor done to sat contractor.	h ceme to do v tisfacti . I hav ONS"	work as is on and su e read &	s listed. T apervision understan	he above work w of owner agent o d the "TERMS A	Or ND TAX TOTAL CH		· · · · · · · · · · · · · · · · · · ·	O IN 30 DAYS

RECEIVED
Allied Cementing Co., Inc KANSAS CORPORATION COMMISSION

MAY 17 2006

\* INVOICE

Russell, KS 67665

P.O. Box 31

CONSERVATION DIVISION

WICHITA, KS Invoice Number: 100433

Invoice Date: 01/25/06

V53474

Sold Samuel Gary, Jr. & Assoc.
To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

KCC MAY 1 6 2006 CONFIDENTIAL

Cust I.D....: Gary

P.O. Number..: Schroeder 3-34

P.O. Date...: 01/25/06

Due Date.: 02/24/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	235.00	SKS	8.7000	2044.50	$^{\cdot}$ $^{\mathrm{T}}$
Gel	5.00	SKS	14.0000	70.00	T
Chloride	7.00	SKS	38.0000	266.00	$\mathbf{T}$
Handling	247.00	SKS	1.6000	395.20	E
Mileage	26.00	MILE	14.8200	385.32	$\mathbf E$
247 sks @.06 pe	r sk per mi				
(Surface)	1.00	JOB	670.0000	670.00	E
Extra Footage	132.00	PER	0.5500	72.60	E
Mileage pmp trk	26.00	MILE	5.0000	130.00	E
TWP	1.00	EACH	55.0000	55.00	${f T}$

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$408.86 ONLY if paid within 30 days from Invoice Date

Subtotal:
Tax...:
Payments:
Total...:

153.44 0.00 4242.06

4088.62

3833.20

DRIG COMP DWO LO

ACCT# 135

APPROVED BY

# ALLIED CEMENTING CO., INC. Federal Tax I.D.

REMIT TO	P.O. BOX 31
	RUSSELL, KANSAS 67665

SERVIC	E PO	INT:	
	11-1	Ber	(n

1.10.010	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	IOB FINISH DISTM
DATE 1-20-062 50002222 MOD							STATE
LEASE Hull-	WELL#	3-34	LOCATION 4 o	Holynood Bltp	1/2 N, W/S	Elkinorg	Fa
OLD OR NEW (Cit	rcle one)			,			
		<b>D</b> 11.					
CONTRACTOR	itrom	2 # 3		OWNER 5	ene		
TYPE OF JOB 🔼	where.					• •	
HOLE SIZE 12/	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		432'	CEMENT.	DERED 235	AQ. Com	· · · · · · · · · · · · · · · · · · ·
CASING SIZE 8	18 USer			3%cc 2	DEKED ASS	1110 CD 110	
TUBING SIZE			PTH PTH	JACCA	78/32		
DRILL PIPE TOOL			PTH				
PRES. MAX			NIMUM	COMMON	2354	@ 8 TO	20445
MEAS. LINE			OE JOINT	POZMIX		@	
CEMENT LEFT IN	CSG.			GEL .	5.4	<u> </u>	70.00
PERFS.				CHLORIDE _		_@ 360	266,0
DISPLACEMENT	25.7	داطط		ASC		@`	
	EOU	UIPMENT		RECEIVE	D	@	
				KANSAS CORPORATION	COMMISSION	@	
PUMPTRUCK	CEMENT	TER T	a	MAY 17 2	006	@	
	HELPER.		Q 44			@ @	
BULK TRUCK		1,000		CONSERVATION	NOISION	_ @	
	DRIVER	\$\ta	NET		.5	@	
BULK TRUCK		0.			100,74	_ @	
#	DRIVER			HANDLING	24784	@ 1.60	395.20
				MILEAGE	24-7.84 C	6 76	385.32
	RE	EMARKS:		•		TOTAL	316.1.02
D. 422'S	8/80		Re Circulation				,
Mixed 235,8	13/80	g . 12/10			SERV	ICE.	
Missed of 22 1		wilow	3 80cc, 2 % M.	<u>, , , , , , , , , , , , , , , , , , , </u>	SERV	TCE	
H30.	4	*********	cos to says y	DEPTH OF JO	OB 4/32	•	
Cam	- N	ί, λ	Cinculate.	PUMP TRUC			670,00
	3/3/3/31.4.	,0,0,0			TAGE 132	' @ <b>.</b> 55	72.60
					26		130.00
		A		— MANIFOLD		@	
						@	
_	,	•				@	
STREET 90 1	enue	& Hary	In & Associ	ette			
COND 171707 9/0 1	<b>6</b> 5	E	)			TOTAL	872.60
STREET / /	-onlo	- Progr	-seeming		,		
CITY	S'	TATE	<u>`</u> ZIP	<del></del>	PLUG & FLOA	T FATTDMFN	ınr
					FLUG & FLUA	T EQUITATEN	<b>.</b>
	THE REAL PROPERTY.	Ser Concession Services Servic		h			
			1 home	1-85/8 Tu	<del>) }</del>	_@ <i>.</i> \$\$#	
		_				@ @	
To Allied Cemer						@	
-	_		ementing equipme	ent			
and furnish ceme							
			The above work w			TOTAL	55.00
		-	n of owner agent of			IOTAL	) )
			nd the "TERMS A	AND Tax			
CONDITIONS"	listed on	the rever	se side.			<del></del>	
				TOTAL CHA	RGE	<u> </u>	
				DISCOUNT -		IF PAT	D IN 30 DAYS
<b>\</b>	,1	. 0	$\mathcal{A}$				
SIGNATURE	(/2 =	リア	Kork	X / ),	aniel J	Koch	n
SIGNAL OKE	Uun	<del>~</del> <u> </u>			DDIN	TED NAME	
J				' "	I IXIIV	בוואונאו בנהי	• •